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Student worksheet
Focus
Measuring time on analogue and digital clocks to the nearest five minutes

Question 1

\Yhirt time is rlrorrn eu.r thc clock'.,
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Question 2

&e tirrre orr the clacti is

bubble.
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Question 3

$hi.h{}arhe ckt-tir stk'$ ,i!c,tl{ fout?

Question 4

'Je

\\:hiclr tirne u,ill this elock slrrru. I{) rnilul.es later,.}
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Student worksheet
Focus
Enlargement and reduction of 2D shapes and 3D objects

Question 1
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Fred warted to makethis Ficture of
a doq twice es lerge.

How many squares will his new
picture cover?

. "-write thc a*sr!ei',
oir tlrr fitle. jidr -J _l

r__r!-* -a
_ squares

Question 2
Aaron r{r'elv thir li-ctn*.
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I;Ie therr ilr*rr it again atd dolbled irr hri-eht <*tl3:

\\lrich figrue $.rr:ws rhir?
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Question 3 Question 4
Lisa's prbm looks lke thb

h,1erry's prbm is larger thin Lisrs prkm.
To m*e her prbm. irerry used I times as mrnysmill cubes as Liea

Which onE is Merrys Frism?
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Ouestion 5
Tom started this increasing pattern:

1, 3,7, 13,21, 31,43

c) Describe how he could have made the pattern.

d) What is the next number in Tom's pattern?

Question 6

Rr'r15 1r*r,, tlris rcctarcl!' ou I -crn uid p:rPct: Write the ansir'er
ofi the line.

Ou llre retrre gritl paper. Ross tfuers a i[il]-er eul
reclilnrlr th;rl r\'"a! tl.rublc'lhe lerrgth antl
tiurble rhc' rridtlt of'the lirrt one.

\\lnt is tlrr. arcn of the hip.ger re,:t,rrrEle'l

cnr

What rule is heing used to make this number
pattem?

1342. 134.2. 13.42. 1.342...

divided by 100
multiplied by 100
divided by 10
multiplied by 10
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Question 1
At'.3ltt rrh,1t fra(ti]tr or tl1f lar'1t srlrure is shirdr.l.qlevl
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Question 3

Where would eight tenths be on this number line?
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Question 2
Kxle ei:l s{}ltl.. :rf8l!'! ittlr} (luirr'tcri\.

Question 4
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Question 5

There were 15 920 people at the cricket match.
One fifth of the crc,\ffd suppo(ed the visiting team-
V\hich of these is the closest to the number of people
who supported the visiting team?
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Question 6
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lA/hat represents one u/iole?
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